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3rd Month, 1st Week, 6th Day Revision Test (1st Week)

Q.1. Choose the correct options.   (1 x 13 = 13)  
(i) What number is added to make the sequence 28, 34, 40, 46, _____:

28, 34, 40, 46, _____ 
(a) 6 (b) 7 (c) 8 (d) 9

(ii) Use first terms in the patterns to identify the rule 52, 57, 62, _____:

52, 57, 62, _____ 
(a) adding by 5  5 (b) adding by 6  6

(c) adding by 7  7 (d) adding by 8  8

(iii) For 6, 13, 20, 27, .......... the general term is:

 6, 13, 20, 27, ..........

(a) 7n+1 (b) 7n1 (c) 3n1 (d) 4n+1

(iv) What is the missing number in the sequences? 
7, 10, 13, _____, _____, _____, 25

(a) 16, 19, 22 (b) 16, 20, 25 (c) 16, 19, 25 (d) 16, 20, 23

(v) For 2, 12, 22, 32, ........... the general term is:

 2, 12, 22, 32, ........... 

(a) 10n+8 (b) 10n2 (c) 10n+2 (d) 10n8

(vi)            + 10 = 12 ?

(a) 4 (b) 2 (c) 1 (d) 3

(vii) Identify the open sentences: 
(a) 2x + 7 = 5 (b) 10 + 5 = 15 (c) 18  2 = 9 (d) 16  4 = 64

(viii)Which of the following is the close sentences? 
(a) 5a + 3b = 10 (b) y + 2 = 16 (c) 7p + 5q = 15 (d) 9  3 = 3

(ix) Which of the following is equation? 
(a) 2x  10 < 1 (b) 8x < 5 (c) 5x = 7 (d) 8x < 5

(x) Identify the inequality: 
(a) 3x + 8 > 10 (b) 2x  10 < 1 (c) 3x  4 = 7x (d) Both a & b

 b  a

(xi) In x2  2xy + 16, the constant is:  x2  2xy + 16

(a) 16 (b) 0 (c) 1 (d) 2

(xii) Which of the following is the polynomial? 

(a) (b) (c) (d)

(xiii)4x2  8x + 12 + 6x2 + 5x + 4 = ?

(a) 10x2 + 3x + 16 (b) 10x23x16 (c) 10x23x+16 (d) 10x2+3x16

Q.2. Answer the following questions: (2x4=8)  
(i). Use the first three terms in the patterns to find the rule.     


78, 85, 92, _____

(ii). Find the missing term in the given sequence.      


(a) 23, 20, 17, ____, ____, ____, 5

(b) 6, 12, 18, ____, ____, ____, 92

(iii). Separate like and unlike terms from the given expression.     



(a) 4x2y + 5x2 + 7yx2 + 4x (b)

(iv). Find the degree of polynomials in the following expressions.  


(a) (b)

Q.3. Find the general terms of the number sequence are given. List the first

four terms for each sequence. an = 5n2+1             (1x4=4)

an = 5n2+1 
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